MATH180C: Introduction to
Stochastic Processes Il

Today: Brownian motion

Next: PK 8.3- 8.4

Week 10:

» homework 8 (due Friday, June 9)



Reflected BM
Dﬁ&- et (B‘JL-ZO be o standacd BM. The stochastic

B l B0
RtttlBt\s{_%t . ;_[ B ¢ o
s called reflected BM .

Think oF « \MO\JQW\U\‘\' in the V|C|v\‘-{-j of o bOumclqrj_
Moments : E (RQ _Yltxl o ¢ *dx <=2 Sia—‘r ey = @

Var (Re) = ECBL)- (E(Be)) = (F)l'(l--z)

_erV\S(‘ttOU\ deV\Slth 3( RJC \J\ R “‘)L) (F( jc P)g j IB "1)

?rocass

—_—
—

\ (gt -
= Ff(zw)\f-m (C 26« € )

T(‘(\M (LE\J\1> Let Mt= GV)V;?IEEB&L_ T"\QV\ (H{'—&t)t?_o IS o
ceflected BM.
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Browniomn br(dBQ s constcucted {Fom o BM b:j
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Prownian motion with dedt
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Example

Fluctuations of -the price of a cerlawn share is modeled by

the BPM with deift s Yo ond varance §=4. You buy

o share at (00% and plon o sefl i+ if S price increases

to 110$ or drops to 95%.
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Geometclc BM
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